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(Fp23FE108 11 BER)

KAMEDEREIT, FHFTHRALERT -2 DEERBIETT,
SR, HRICEHVELLIEELRHYFINDT, HohLDHITELEZSL,

1. HEEHE
H23.1~8n# H22.1~8 H23.4~8n# H22.4~8 H23EE H22.1~12 H22.4~23.3
78 8H (ERE | grERY) | (EER: | mriEsRs | 1wy | GiERs) | GieEgs
Y- ERATE 25,060 | 27,269 || 228,973 | 234,158 | 133,418 | 134,830 81,089 353,277 349,504
(A 6.8) 0 (A 22)] (A25)) (A 1.0 (A 1.7) (A 0.2) (A 1.3) (A 1.4)
%O 24369 | 26612 223,734 | 228,157 | 130,090 | 131,140 79,109 344598 | 341,225
(A 6.8) 24| (A19)] (A24)) (AO0.8) (A 1.3) (0.1) (A 1.1) (A 1.0)
ERHE 691 657 5,239 6,001 3,328 3,690 1,980 8,679 8,279
(A5 (A85) (A127)] (A60) (A 98)| (A 120) (A 11.6) (A 87) (A 14.0)
= I 2,491 2202 | 19,904 21,212 12,191 12,825 7,498 31,756 31,082
(A 70)]| (A26) (A62) G2 (A 49) (26)] (A 49 29 (A17
gl 9,326 9,277|| 71,183 76,332 44,637 47,229 26,034 113,519 110,964
(A 2.2) (2.5) (A 6.7) (2.8)| (A 5.5) (0.9) (A 9.1) (2.4) (A 1.4)
mERXR D 13,480 13,715 105,042 | 113,506 65,438 70,224 38,243 167,326] 163,648
(A 14)] (A09)| (A 75) (5.3)] (A 6.8) (3.6)] (A 10.5) (40 (A 03)
& B 36,877 38,748| 320,060 [ 331,702 | 190,246 194,884 114,621 498,552 491,550
(A 5.7) (19 (A 35| (A09)) (A24 (A 0.8) (A 27) (A 0.3) (A 14)
2. EFHEEH
H23.1~8m# H22.1~8 H23.4~8xm# H22.4~8 H23EE H22.1~12 H22.4~23.3
78 8 A &R | giERY) | (EER:) | mresRs | 1wy | GiERs) | GieEgs
. SEET 3,036 2,824 | 24,805 20,253 14,389 11,783 8,529 31,524 33,470
b (32.3) (18.8) (22.5) (3.6) (22.1) (5.8) (19.9) (7.6)] (A 14.0)
EBEEET 3,341 4326 | 33,139 32,570 21,139 20,656 13,472 49,535 49,621
(A 6.8) (8.1) (1.7) (0.8) (2.3) (1.2) (3.1) (1.4) (1.6)
e AEEFT 114 143 1,013 1,044 626 676 369 1,567 1,586
= (A 296) (A 227 (A 3.0) 1.8 (A 7.4) (27.1) (12.2) (19.6) (17.5)
EBEEET 1,113 922 7,836 6,790 4,993 4,240 2,958 10,825 11,118
(6.4) 19.7) (15.4) (2.0) (17.8) (3.9) (22.0) 1.7) (4.8)
3. BEIERKEHK
H23.1~8m# H22.1~8 H23.4~8x# H22.4~8 H23EE H22.1~12 H22.4~23.3
78 8H &g | GiERS) || (EER: | ereERy) || B1mky | G1ERH) | eieEgsh
4% E 8,757 | 31,339 165694 | 171,248 95,374 97,118 54,916 255,192 251,382
(A 57.6) (56.1) (A 3.2) (1.2 (A 1.8) 13 (A27 (03)] (A 15)
514 [ 2 20,631 | 20,076 || 171,248 | 169,157 97,118 95,899 56,411 254368 | 255,240
” (1.4) (2.0) (1.2)] (A 32.8) (1.3)| (A 35.1) (1.0)] (A 269)| (A 195)
- = 0 0 0 0 0 0 0 0 0
= A # = 0ol  ©of (00 0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
~ < 8,757 | 31,339 | 165,694 | 171,248 95,374 97,118 54,916 255,192 | 251,382
= 3 (A 57.6) (56.1)| (A 3.2) 12 (A 18 a3 (A27) (03)] (A 15)




4. BHFERHEH

H23.1~8m# H22.1~8 H23.4~8x# H22.4~8 H23EE H22.1~12 H22.4~23.3

78 8B &g | GiERS) || (EER: | ereERy) || B1mky | G1ERH) | eieEgsh

EESR 2,293 2213 17,716 18,461 11,285 12,086 6,779 27,889 27,945

(A 11.4)| (A 45| (A 40) (24.5) (A 6.6) (41.9) (A 5.6) (15.5) (15.5)

4% ;3 19 18 151 146 102 94 65 237 234
(A 13.6) (12.5) (3.4)| (A 21.1) (85) (A 175) (16.1) (A 78| (A1D

T I 9 15 103 90 71 62 47 135 139

B (A 35.7) (36.4) (14.4)] (A 11.8) (14.5) (3.3) (27.0)] (A 15.1) (A 4.1)
TS 3 2 24 28 17 23 12 39 41

(0.0)| (A 66.7)| (A 14.3) (55.6)| (A 26.1) (187.5) (A 14.3) (21.9) (51.9)

& i 2,324 2248 17,994 18,725 11,475 12,265 6,903 28,300 28,359

(A 116) (A 44| (A 39 (237 (A 6.4) (41.0) (A 53) (15.1) (15.2)

H23.1~8mz | H22.1~8 || H23.4~8m= | H22.4-~8 H23EE H22.1~12 | H22.4~233

7H 8H (&8 | GiERS) || (EER: | ereERy) || S1mky | @iER:) | eiEEgsh
BEEARR 0 0 0 0 0 0 0 0 0

= (0.0)|(A 100.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
= M, 0 1 8 2 5 2 4 3 6

=i (A 100.0) (100.0)f (300.0)] (A 60.0) (150.0)] (A 33.3) (300.0)] (A 625) (0.0)
iT IE 0 0 1 1 1 1 1 1 1

3 (0.0)|(A 100.0) (0.0)]  (100.0) (0.0) (100.0) (100.0) (100.0) (100.0)
HOE 0 0 1 1 0 1 0 2 3

= (0.0)|(A 100.0) (0.0) (0.0)]f (A 100.0) (100.0) (0.0) (100.0) (100.0)
& 3 0 1 10 4 6 4 5 6 10

(A 100.0)| (A 500) (150.0)] (A 33.3) (50.0) (33.3) (400.0)] (A 33.3) (66.7)

H23.1~8m# H22.1~8 H23.4~8xm# H22.4~8 H23EE H22.1~12 H22.4~23.3

78 8B &g | GiERS) || (EER: | ereERy || B1mky | GiERH) | eieEgsh

EESR 71 41 311 314 216 219 104 467 467

E (20.3) (13.9) (A 1.0) 9.8) (A 1.4) (23.7)|| (A 16.1) (A 9.0) (A 6.4)
&= % 6 0 10 12 9 9 3 20 18
(100.0)|(A 100.0)]| (A 16.7) (0.0) (0.0) (12.5) (50.0) (33.3) (28.6)

= H OF 1 4 11 14 9 11 4 19 18
0.0)] (100.0)| (A 21.4) (75.0) (A 18.2) (120.0)| (A 60.0) (90.0) (80.0)

& i 78 45 332 340 234 239 111 506 503

(23.8) (125) (A 2.4) 1D (A 2.1) (258)| (A 184) (A59)| (A38)

H23.1~8m% H22.1~8 H23.4~8m# H22.4~8 H234EE H22.1~12 H22.4~23.3

74 8H (FER2:) | GiERY) | (EERs) | gieERy || H1mEd | GIERED | GiEERR

EESR 105 137 859 901 580 615 338 1,326 1,319

(1.9) @1 (A4 (A29)f (A57) D] (A 23.0) (AB63)] (A21)

[i4] = 13 3 70 69 49 40 33 113 105
(30.0)] (A 72.7) (1.4)| (A 317 (225)] (A 46.7) (737 (A 193)] (A 26.6)

B H 123 82 806 933 485 575 280 1,380 1,343

iz (A 54) (A163) (A 136) (A37)| (A5 (A 3D (A 19.3) (A 23)] (A40)
HOOFE 0 0 3 9 0 6 0 12 12

(A 100.0)|(A 100.0)] (A 66.7) (80.0)|[ (A 100.0) (50.0)|[ (A 100.0) (71.4) (33.3)

2 =& 39 45 319 272 200 192 116 431 470

(18.2) (A 22) (17.3)] (A 22.1) (4.2)] (A 14.3) 2n] (A 102) (8.0)

g 280 267 2,057 2,184 1,314 1,428 767 3,262 3,249

0.7) (166)| (A 58)] (A7) (A80)] (A3 (A16.7) (A 56) (A 25)




